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1. 	 Detennine the yield load ~ and the ultimate load Fu for the structure shown in Fig.1 

if the horizontal bar AB is rigid and the two identical vertical wires are made ofan 

elastic-plastic material. i.e., (a) plot a load-displacement diagram for point B, (b) 

detennine allowable load r I using a load factor of 1.5. 
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2. What is the bulk modulus K? Can you prove the following fonnula? (25%) 

E 
K= 3(/- ).;,» 

3. 	 For the stress tensor shown, (a) fmd the principal stresses and detennine the 

principal direction corresponding to the largest principal value. (25010)

[~~] ~ [f g -~] K( ~ 
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4. 	 A rectangular strain rosette is mounted on the surface of a body shown Fig.2. The 

gauges read t@ ~ 0,002 

~ ::- 0,003 

1/ ~ = a oo4 
(a) 	If E=u10ftJtB,fid Y =03, what are the stresses at this point? 

(b) What is the nonnal strain in a direction nonnal to this surface? (25%) 
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